3.2 Factoring Quadratic Trinomials part 1

The rest of the unit will be focused on factoring quadratics in standard form.
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Notice that when you first use distribution to
€ x* +4x - 2x -\ multiply that you end up with four terms. Once you

combine like terms, you end up with three terms in
) Cx*+2x~\ 5 your final expression.

When we factor quadratic trinomials, we are tr
the two binomials that it was multiplied from.
the middle and then use factoring by grouping

ying to work backwards from a distributed expression to get
To do this, we will find a way to “uncombine” the like terms in

2) Factor each expression.
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